		Stock Threstment Hust Quotations							
市場 larket	銘柄名 I ssues	始值 <日> Open <date></date>	高値 <日> High <date></date>	安値 <日> Low <date></date>	終値 <日> Close <date></date>	終値平均 Average Closing	売買高 Trading Volume	売買代金 Trading Value	備考 Remarks
		円¥	円¥	円¥	円¥	Price 円¥	株/口 shs./units	円¥	
13190							売買単位:1000口	Trading unit:1000 units	
	T FUNDS 日経300株価指数連動型上場投信 受益証券	-	-	-	-	473.90	-	-	
NEXT F	UNDS Nikkei 300 Index Exchange Traded Fund								
	[建設業 Construction]								
	哥 普通株式	-	-	-	-	2,010.00	-	-	
Gifu I	andscape architect Co.,Ltd.								
Ma 14390	[建設業 Construction]								
	络店 普通株式	-	-	-	-	1,331.00	-	-	
YASUE	CORPORATION								
15530							売買単位:10口 Tr	ading unit:10 units	
	IS S&P東海上場投信 受益証券	4,114	4,115	3,814	3,969	3,964.29	1,610	6,391,520	
MAXIS	S&P Tokai ETF	<06/03>	<06/03>	<06/19>	<06/28>				
Pr 17120	[建設業 Construction]								
ダイセ=	キ環境ソリューション 普通株式	-	-	-	-	1,032.00	-	-	
Daisek	i Eco. Solution Co., Ltd.								
Ma 17380	[建設業 Construction]								
NIT	TOH 普通株式	569	584	550	577	572.32	15,300	8,679,100	
NITTOH	CORPORATION	<06/03>	<06/05>	<06/21>	<06/27>				
Pr 17660	[建設業 Construction]								
東建コ-	-ポレーション 普通株式	-	-	-	-	11,920.00	-	-	
TOKEN	CORPORATION								
Ma 17770	[建設業 Construction]								
川崎設備	備工業 普通株式	648	694	634	691	656.05	88,200	57,772,400	
KAWASA	KI SETSUBI KOGYO CO.,LTD.	<06/03>	<06/28>	<06/07>	<06/28>				
Pr 17800	[建設業 Construction]								
	・ ラ 普通株式	-	-	-	-	1,336.00	-	-	
YAMAUR	A CORPORATION								
Pr 18010	[建設業 Construction]								
	-	-	-	-	5,951.00	-	-	
TAISEI	CORPORATION								
Pr 18030	[建設業 Construction]								
	5 受 普通株式	858	858	858	858	858.00	100	85,800	
CHIMIZ	U CORPORATION	<06/19>	<06/19>	<06/19>	<06/19>			•	

(注)
1. : 制度信用銘柄
2. : 制度信用銘柄
3. () : うち立会外分
4. Pr : ブレミア市場
Ma : メイン市場
5. 終値平均は日々の終値合計を値付日数で除して算出。
ただし、売買取引のなかった銘柄は最終気配値段を表示。
6. 注記のない銘柄の売買単位は100株/口。

⁽Notes)

1. : Issues eligible for Standardized margin transactions.

2. : Issues eligible for Standardized margin transactions and loan transactions.

3. () : Of which are off-hour transactions.

4. Pr : Premier Market

Ma : Main Market

5. Eigures of closing price average are computed by dividing the total of each closing price average are computed by dividing the total of each closing price average are computed by dividing the total of each closing price average are computed by dividing the total of each closing price average are computed by dividing the total of each closing price average are computed by dividing the total of each closing price average are computed by dividing the total of each closing price average are computed by dividing the total of each closing price average are computed by dividing the total of each closing price average are computed by dividing the total of each closing price average are computed by dividing the total of each closing price average are computed by dividing the total of each closing price average are computed by dividing the total of each closing price average are computed by dividing the total of each closing price average are computed by dividing the total of each closing price average are computed by dividing the total of each closing price average are computed by dividing the total of each closing price average are computed by dividing the total of each closing price average are computed by dividing the total of each closing price average are computed by dividing the total of each closing price average are computed by dividing the total of each closing price average are computed by dividing the total of each closing price average are computed by dividing the total of each closing price average are computed by dividing the total of each closing price average are computed by dividing the total of each closing price average are computed by dividing the total of each closing price average are computed by dividing the computed by the computed by dividing the computed by 5. Figures of closing price average are computed by dividing the total of each closing prices on the regular transaction with the number of days traded. However, in case there is no transaction during the month, figures are the last offer prices.

6. Trading unit of Issues without Notes is 100 shares/units.

		O COOK IIIV	ootmont must	was tations				
市場 銘柄名 arket Issues	始值 <日> Open <date></date>	高値 <日> High <date></date>	安値 <日> Low <date></date>	終値 <日> Close <date></date>	終値平均 Average Closing	売買高 Trading Volume	売買代金 Trading Value 円¥	備考 Remarks
	円¥	円¥	円¥	円¥	Price 円¥	株/口 shs./units	円¥	
Pr 18120 [建設業 Construction] 鹿島建設 普通株式 KAJIMA CORPORATION	-	-	-	-	2,781.50	-	-	
Ma 18690 [建設業 Construction] 名工建設 普通株式 MEIKO CONSTRUCTION CO.,LTD.	1,222 <06/03>	1,240 <06/10>	1,191 <06/19>	1,237 <06/28>	1,224.05	99,100	121,118,800	
Pr 18700 [建設業 Construction] 矢作建設工業 普通株式 YAHAGI CONSTRUCTION CO.,LTD.	-	-	-	-	1,672.00	-	-	
Pr 18780 [不動産業 Real Estate] 大東建託 普通株式 DAITO TRUST CONSTRUCTION CO.,LTD.	-	-	-	-	16,585.00	-	-	
Ma 18920 [建設業 Construction] 徳倉建設 普通株式 TOKURA CORPORATION	4,500 <06/04>	4,600 <06/28>	4,500 <06/04>	4,600 <06/28>	4,524.17	8,200	37,118,500	
Pr 18930 [建設業 Construction] 五洋建設 普通株式 PENTA-OCEAN CONSTRUCTION CO.,LTD.	655 . 5 <06/04>	655.5 <06/04>	646 <06/24>	646 <06/24>	650.75	1,100	716,300	
Pr 19280 [建設業 Construction] 積水ハウス 普通株式 Sekisui House,Ltd.	3,605 <06/04>	3,605 <06/04>	3,605 <06/04>	3,605 <06/04>	3,605.00	100	360,500	
Pr 19460 [建設業 Construction] トーエネック 普通株式 TOENEC CORPORATION	-	-	-	-	5,990.00	-	-	
Pr 20530 [食料品 Foods] 中部飼料 普通株式 CHUBU SHIRYO CO.,LTD.	-	-	-	-	1,621.00	-	-	
Pr 21390 [サービス業 Services] 中広 普通株式 CHUCO CO.,LTD.	530 <06/27>	530 <06/27>	530 <06/27>	530 <06/27>	530.00	100	53,000	
Pr 21690 [サービス業 Services] C D S 普通株式 CDS Co.,Ltd.	-	-	-	-	1,793.00	-	-	

(注)
1. : 制度信用銘柄
2. : 制度信用銘柄
3. () : うち立会外分
4. Pr : ブレミア市場
Ma : メイン市場
5. 終値平均は日々の終値合計を値付日数で除して算出。
ただし、売買取引のなかった銘柄は最終気配値段を表示。
6. 注記のない銘柄の売買単位は100株/口。

1. : Issues eligible for Standardized margin transactions.
2. : Issues eligible for Standardized margin transactions and loan transactions.
3. () : Of which are off-hour transactions.
4. Pr : Premier Market
Ma : Main Market
5. Figures of closing price everage are computed by dividing the total of continuous.

^{5.} Figures of closing price average are computed by dividing the total of each closing prices on the regular transaction with the number of days traded. However, in case there is no transaction during the month, figures are the last offer prices.

6. Trading unit of Issues without Notes is 100 shares/units.

市場 銘柄名 larket Issues	始值 <日> Open <date></date>	高値 <日> High <date></date>	安値 <日> Low <date></date>	終値 <日> Close <date></date>	終値平均 Average Closing	売買高 Trading Volume	売買代金 Trading Value	備考 Remarks
	円¥	円¥	円¥	円¥	Price 円¥	株/口 shs./units	円¥	
Ma 21850 [サービス業 Services] シイエム・シイ 普通株式 CMC CORPORATION	-	-	-	-	1,252.00	-	-	
Pr 22070 [食料品 Foods] 名糖産業 普通株式 Meito Sangyo Co.,Ltd.	-	-	-	-	2,011.00	-	-	
Pr 22090 [食料品 Foods] 井村屋グループ 普通株式 IMURAYA GROUP CO.,LTD.	-	-	-	-	2,463.00	-	-	
Ma 22240 [食料品 Foods] コモ 普通株式 COMO CO.,LTD	-	-	-	-	2,899.00	-	-	
Pr 24240 [サービス業 Services] ブラス 普通株式 Brass Corporation	-	-	-	-	704.00	-	-	
Ma 24790 [サービス業 Services] ジェイテック 普通株式 JTEC CORPORATION	-	-	-	-	264.00	-	-	
Pr 24850 [サービス業 Services] ティア 普通株式 TEAR Corporation	-	-	-	-	461.00	-	-	
Ma 25510 [食料品 Foods] マルサンアイ 普通株式 MARUSAN-AI CO.,LTD.	3,695 <06/03>	3,710 <06/06>	3,625 <06/19>	3,675 <06/28>	3,662.11	17,200	62,842,000	
Pr 26860 [小売業 Retail Trade] ジーフット 普通株式 GFOOT CO.,LTD.	-	-	-	-	298.00	-	-	
Pr 27220 [小売業 Retail Trade] I Kホールディングス 普通株式 IK HOLDINGS Co.,Ltd	-	-	-	-	411.00	-	-	
Pr 27340 [小売業 Retail Trade] サーラコーポレーション 普通株式 SALA CORPORATION	-	-	-	-	869.00	-	-	

(注)
1. : 制度信用銘柄
2. : 制度信用銘柄
3. () : うち立会外分
4. Pr : ブレミア市場
Ma : メイン市場
5. 終値平均は日々の終値合計を値付日数で除して算出。
ただし、売買取引のなかった銘柄は最終気配値段を表示。
6. 注記のない銘柄の売買単位は100株/口。

1. : Issues eligible for Standardized margin transactions.
2. : Issues eligible for Standardized margin transactions and loan transactions.
3. () : Of which are off-hour transactions.
4. Pr : Premier Market
Ma : Main Market
5. Figures of closing price everage are computed by dividing the total of continuous.

^{5.} Figures of closing price average are computed by dividing the total of each closing prices on the regular transaction with the number of days traded. However, in case there is no transaction during the month, figures are the last offer prices.

6. Trading unit of Issues without Notes is 100 shares/units.

4/7 Page 株式・投信相場表(1000~3999) Year/Month: 2024/06

1. 1 A						•
Stock	Inve	stmen	t Ti	rust	Quotations	

市場 銘柄名 arket Issues	始值 <日> Open <date></date>	高値 <日> High <date></date>	安値 <日> Low <date></date>	終値 <日> Close <date></date>	終値平均 Average Closing	売買高 Trading Volume	売買代金 Trading Value	備考 Remarks
	円¥	円¥	円¥	円¥	Price 円¥	株/口 shs./units	円¥	
Pr 27530 [小売業 Retail Trade] あみやき亭 普通株式 AMIYAKI TEI CO.,LTD	-	-	-	-	5,860.00	-	-	
Ma 27780 [小売業 Retail Trade] パレモ・ホールディングス 普通株式 PALEMO HOLDINGS CO.,LTD.	-	-	-	-	174.00	-	-	
Ma 27800 [小売業 Retail Trade] コメ兵ホールディングス 普通株式 Komehyo Holdings Co.,Ltd.	-	-	-	-	4,485.00	-	-	
Ma 28060 [食料品 Foods] ユタカフーズ 普通株式 YUTAKA FOODS CORPORATION	-	-	-	-	1,889.00	-	-	
Pr 28110 [食料品 Foods] カゴメ 普通株式 KAGOME CO.,LTD.	3,641 <06/17>	3,641 <06/17>	3,431 <06/17>	3,450 <06/17>	3,450.00	300	1,052,200	
Ma 29020 [食料品 Foods] 太陽化学 普通株式 TAIYO KAGAKU CO.,LTD.	1,510 <06/03>	1,577 <06/28>	1,492 <06/06>	1,575 <06/28>	1,515.50	159,900 (37,000)	243,173,100 (56,203,000)	
Ma 29830 [不動産業 Real Estate] アールプランナー 普通株式 Arr Planner Co.,Ltd.	-	-	-	-	861.00	-	-	
Pr 30280 [小売業 Retail Trade] アルペン 普通株式 Alpen Co.,Ltd	-	-	-	-	2,041.00	-	-	
Ma 30350 [卸売業 Wholesale Trade] ケイティケイ 普通株式 k t k INC.	-	-	-	-	685.00	-	-	
Ma 30660 [小売業 Retail Trade] JBイレブン 普通株式 JB ELEVEN CO.,LTD.	821 <06/03>	821 <06/03>	751 <06/26>	769 <06/28>	787.05	277,200	217,923,700	
Pr 30860 [小売業 Retail Trade] J.フロント リテイリング 普通株式 J.FRONT RETAILING Co.,Ltd.	1,678 <06/13>	1,678 <06/13>	1,678 <06/13>	1,678 <06/13>	1,678.00	100	167,800	

(注)
1. : 制度信用銘柄
2. : 制度信用銘柄
3. () : うち立会外分
4. Pr : ブレミア市場
Ma : メイン市場
5. 終値平均は日々の終値合計を値付日数で除して算出。
ただし、売買取引のなかった銘柄は最終気配値段を表示。
6. 注記のない銘柄の売買単位は100株/口。

			Ottook Thivestillent Trust		Quo ta t i ons				
市場 Market	銘柄名 I ssues	始值 <日> Open <date></date>	高値 <日> High <date></date>	安値 <日> Low <date></date>	終値 <日> Close <date></date>	終値平均 Average Closing	売買高 Trading Volume	売買代金 Trading Value	備考 Remarks
		円¥	円¥	円¥	円¥	Price 円¥	株/口 shs./units	円¥	
ブロンコヒ	∿売業 Retail Trade] ビリー 普通株式 ILLY Co.,LTD.	-	-	-	-	3,790.00	-	-	
トヨタ紡織	前送用機器 Transportation Equipment] 哉 普通株式 OSHOKU CORPORATION	-	-	-	-	2,130.50	-	-	
I C D A か Internat	N売業 Retail Trade] マールディングス 普通株式 ional Conglomerate of Distribution for le Holdings Co.,Ltd.	-	-	-	-	2,900.00	-	-	
	∿売業 Retail Trade] -ジ 普通株式 Co., Ltd.	-	-	-	-	2,403.00	-	-	
	機維製品 Textiles & Apparels] だウ 普通株式 Co., Ltd.	-	-	-	-	104.00	-	-	
	機維製品 Textiles & Apparels] リミテッド 普通株式 IMITED	-	-	-	-	807.00	-	-	
ヨシックス	ヽ売業 Retail Trade] スホールディングス 普通株式 oldings Co.,Ltd.	-	-	-	-	2,975.00	-	-	
三重交通ク	「動産業 Real Estate] ブループホールディングス 普通株式 u Group Holdings,Inc.	-	-	-	-	605.00	-	-	
	D売業 Wholesale Trade] ラス 普通株式 US INC.	-	-	-	-	1,182.00	-	-	
	D売業 Wholesale Trade] 《 普通株式 co.,ltd	-	-	-	-	1,126.00	-	-	
	法属製品 Metal Products] 〈 普通株式 .,Ltd.	-	-	-	-	413.00	-	-	

(注)
1. : 制度信用銘柄
2. : 制度信用銘柄
3. () : うち立会外分
4. Pr : ブレミア市場
Ma : メイン市場
5. 終値平均は日々の終値合計を値付日数で除して算出。
ただし、売買取引のなかった銘柄は最終気配値段を表示。
6. 注記のない銘柄の売買単位は100株/口。

1. : Issues eligible for Standardized margin transactions.
2. : Issues eligible for Standardized margin transactions and loan transactions.
3. () : Of which are off-hour transactions.
4. Pr : Premier Market
Ma : Main Market
5. Figures of closing price everage are computed by dividing the total of continuous.

^{5.} Figures of closing price average are computed by dividing the total of each closing prices on the regular transaction with the number of days traded. However, in case there is no transaction during the month, figures are the last offer prices.

6. Trading unit of Issues without Notes is 100 shares/units.

		Otook Theotiment Trust Quotations							
市場 Market	銘柄名 Issues	始值 <日> Open <date></date>	高値 <日> High <date></date>	安値 <日> Low <date></date>	終値 <日> Close <date></date>	終値平均 Average Closing	売買高 Trading Volume	売買代金 Trading Value 円¥ - 7,597,300 - 93,410,400	備考 Remarks
		円¥	円¥	円¥	円¥	Price 円¥	株/口 shs./units		
三ツ知 音	金属製品 Metal Products] 普通株式 i Corporation	-	-	-	-	794.00	-	-	
MIEコ	金属製品 Metal Products] ーポレーション 普通株式 PORATION CO.,LTD	1,450 <06/03>	1,450 <06/03>	1,400 <06/19>	1,431 <06/28>	1,427.93	5,300	7,597,300	
信和 普遍	金属製品 Metal Products] 通株式 Co., Ltd.	-	-	-	-	766.00	-	-	
丸八ホー	繊維製品 Textiles & Apparels] ルディングス 普通株式 HI HOLDINGS CO.,LTD.	947 <06/03>	954 <06/27>	932 <06/18>	952 <06/28>	942.20	99,200	93,410,400	
日東製網	繊維製品 Textiles & Apparels] 普通株式 EIMO CO.,LTD.	-	-	-	-	1,488.00	-	-	
コメダホ	卸売業 Wholesale Trade] ールディングス 普通株式 Holdings Co.,Ltd.	-	-	-	-	2,718.00	-	-	
リネット	小売業 Retail Trade] ジャパングループ 普通株式 panGroup, Inc.	-	-	-	-	324.00	-	-	
Pr 35710 [ソトー ii SOTOH C		-	-	-	-	738.00	-	-	
東海染工	繊維製品 Textiles & Apparels] :普通株式 denko K.K.	-	-	-	-	839.00		-	
ダイナバ	パルプ・紙 Pulp & Paper] パック 普通株式 : Co.,Ltd.	-	-	-	-	1,842.00	-	-	
中央紙器	パルプ・紙 Pulp & Paper] 江業 普通株式 ACK INDUSTRY CO.,LTD.	1,387 <06/03>	1,420 <06/05>	1,380 <06/20>	1,418 <06/28>	1,392.20	14,000	19,507,800	

(注)
1. : 制度信用銘柄
2. : 制度信用銘柄
3. () : うち立会外分
4. Pr : ブレミア市場
Ma : メイン市場
5. 終値平均は日々の終値合計を値付日数で除して算出。
ただし、売買取引のなかった銘柄は最終気配値段を表示。
6. 注記のない銘柄の売買単位は100株/口。

⁽Notes)

1. : Issues eligible for Standardized margin transactions.

2. : Issues eligible for Standardized margin transactions and loan transactions.

3. () : Of which are off-hour transactions.

4. Pr : Premier Market

Ma : Main Market

5. Eigures of closing price average are computed by dividing the total of each closing price average are computed by dividing the total of each closing price average are computed by dividing the total of each closing price average are computed by dividing the total of each closing price average are computed by dividing the total of each closing price average are computed by dividing the total of each closing price average are computed by dividing the total of each closing price average are computed by dividing the total of each closing price average are computed by dividing the total of each closing price average are computed by dividing the total of each closing price average are computed by dividing the total of each closing price average are computed by dividing the total of each closing price average are computed by dividing the total of each closing price average are computed by dividing the total of each closing price average are computed by dividing the total of each closing price average are computed by dividing the total of each closing price average are computed by dividing the total of each closing price average are computed by dividing the total of each closing price average are computed by dividing the total of each closing price average are computed by dividing the total of each closing price average are computed by dividing the total of each closing price average are computed by dividing the total of each closing price average are computed by dividing the total of each closing price average are computed by dividing the total of each closing price average are computed by dividing the total of each closing price average are computed by dividing the total of each closing price average are computed by dividing the computed by the computed by dividing the computed by 5. Figures of closing price average are computed by dividing the total of each closing prices on the regular transaction with the number of days traded. However, in case there is no transaction during the month, figures are the last offer prices.

6. Trading unit of Issues without Notes is 100 shares/units.

7/7 Page 株式・投信相場表(1000~3999) Year/Month: 2024/06 Stock · Investment Trust Quotations 終値 <日> Close<Date> 終値平均 Average Closing 売買代金 Trading Value 市場 Market 銘柄名 Issues 高値 <日> High <Date> 始値 <日> 安値 <日> 売買高 Open <Date> Low <Date> Trading Volume Remarks Price 株/口 shs./units 円¥ 円¥ 円¥ 円¥ 円¥ 円¥ [パルプ・紙 Pulp & Paper] Ma 39580

593.00

笹徳印刷 普通株式

Sasatoku Printing Co., Ltd.

(注)
1. : 制度信用銘柄
2. : 制度信用銘柄
3. () : うち立会外分
4. Pr : ブレミア市場
Ma : メイン市場
5. 終値平均は日々の終値合計を値付日数で除して算出。
ただし、売買取引のなかった銘柄は最終気配値段を表示。
6. 注記のない銘柄の売買単位は100株/口。

Issues eligible for Standardized margin transactions.
 Issues eligible for Standardized margin transactions and loan transactions.
 Of which are off-hour transactions.
 Pr : Premier Market

Ma : Main Market

5. Figures of closing price average are computed by dividing the total of each closing prices on the regular transaction with the number of days traded. However, in case there is no transaction during the month, figures are the last offer prices.

6. Trading unit of Issues without Notes is 100 shares/units.